
A 
 
1.   12 x 13 
 

2.   24 x 12 
 

3.   11 x 21 
 

4.   13 x 14 
 

5.   21 x 15 
 

6.   22 x 13 
 

7.   24 x 14 
 

8.   35 x 12 
 

9.   43 x 21 
 

10. 37 x 23 
 
12.  Chocolate bars 

cost 34p.  How much 
would a box of 25 
chocolate bars cost?  

 
13.  18 children fit into 

a minibus.  How many 
children could be 
carried by 23 buses? 

   

B 
 
1.   22 x 23 
 

2.   34 x 32 
 

3.   45 x 23 
 

4.   32 x 27 
 

5.   53 x 32 
 

6.   37 x 43 
 

7.   26 x 28 
 

8.   37 x 26 
 

9.   45 x 38 
 

10. 67 x 56 
 
12.  Chocolate bars 

cost 53p.  How much 
would a box of 48 
chocolate bars cost?  

 
13.  42 children fit into 

a coach.  How many 
children could be 
carried by 37 coaches? 

 

C 
 
1.   42 x 33 
 

2.   64 x 37 
 

3.   75 x 49 
 

4.   95 x 57 
 

5.   83 x 36 
 

6.   57 x 49 
 

7.   86 x 78 
 

8.   77 x 46 
 

9.   45 x 38 
 

10. 67 x 96 
 
12.  Chocolate bars 

cost 98p.  How much 
would a box of 64 
chocolate bars cost?  

 
13.  67 children fit into 

a coach.  How many 
children could be 
carried by 59 coaches? 

 
 


